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6.2/3 Solving Systems of Linear Inequalities- Dayl (Concept #2)

System of Linear Inequalities: A set of two or more linear inequalities that are

graphed on the same coordinate plane; the intersection of their solution regions

represents the solution set for the system. Example > ‘\4\
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EXAMPLE #2: F/
Graph the system of linear inequalities. Choose two é\' :
possible solutions from the set. Assume xel, ye |.
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Does the intersection point of the system have an open dot or a closed dot? Explain [ L
T4 will have  an opendot because e solotions must Satis ¥, both inequalines

ol 22, does net inchide he paints nte e Hoiehee He
i(\h’—fséc*im ?o;,\Jr & gt imducit’c& " WLL@ solo Tron Rjj‘l‘m'



Topic 1 — Systems of Linear Inequalities (Ch. 6) Pre- AP Foundations 20
i;\édamﬁm cv\& Mange aré ww} A ‘He sg'(“ \/

EXAMPLE #3: ‘? Whole nombers wk.d}\mq onL&, L,< (04 { ‘N ===
Graph the system of linear inequalities. Choose two Qua f‘“{\
possible solutions from the set. Assume xe W, ye W. -
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EXAMPLE #4:
Graph the system of linear inequalities. Choose two possible solutions from the set. Assume xeR,ye R.
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